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Questionl1:-Who is the current President of the World Bank?
D3 mﬁos"' BRI 9PTCO 0359007
P -0 ?Sa).

A:-Luc Tardif
VT L3R H°

B:-Macky sall
cd)aj: EDIOM

C:-David R. Malpass
BeAT® €308, :mga,u—s

D:-Thomas Bach
PORVE® 2T°

Correct Answer:- Option-C
Question2:-Who is known as the "Prophet of the French Revolution'?
‘05 F903030 D' 0TO 035980 FB0IVFIT?

A:-Adam Smith
eSBI0¢ 3°

&

B:-Montesquieu
S3008359

33

C:-Voltaire
@aec&eo‘

D:-Rousseau

-9

(ONARVAIY

Correct Answer:- Option-D
Question3:-The Bill of Rights was passed in the year
é?oﬁ@e’ mma"ojoﬁb 035953 SREBEY) 90NCTORTD0B?
A:-1689
B:-1701
C:-1694



D:-1695
Correct Answer:- Option-A

Question4:-Who led the Revolt of 1856 at Bareilly?
wdedoddg 1856 T Woriodogo 0duety B0FEETO?

A:-Hazrat Mahal
DLOS® VDHOE

B:-Bakhat Khan
20D ¢

C:-Kanwar Singh
6gos 20n®

D:-Nana Sahib
QEINDRRDY AN
Correct Answer:- Option-B

Question5:-Which of the following was known as the second ""Magna Carta" in
English History?
B FINTINYY 03BP> BN V3B OB 'R0, Tot5o " 20RO FTAIWNRIZLS?

A:-Religious Toleration Act
PIET :,’So—-’%%oé T

B:-The Petition of Rights
s?’mej 923

C:-The Act of Settlement
A e3¢ esp° ﬁésez?es‘

D:-The Bill of Rights
$?mf SORRT
Correct Answer:- Option-D
Question6:-Who wrote the book "The Spirit of Laws''?
"0 D3 esp® oz o—-’@§ﬁs§a W3R IO 0359007
A:-Montesquieu
d)aoéﬁguazs

B:-Voltaire
affaeeje‘deo‘

C:-Rousseau

-9

oNAEVAIN

D:-John Lock
o™ ©%e

Correct Answer:- Option-A
Question7:-Which of the following is/are a glacial landform?



(i) Cliffs

(ii) Waterfall
(iii) Drumlins
(iv) Barchans

BYNBIHNYY 0dooYmo rie803oo engozss POI0°e e3NT?

(i) 200@8ned
(il) =TS
(iii) @&gﬁa‘; ned
(iv) mz&s‘afv

A:-(i) and (ii)
(i) S030(ii)

B:-(iv) only
(iv) S598

C:-(iii) only
(iii) S098,

D:-(ii) and (iv)
(ii) &0 (iv)

Correct Answer:- Option-C

Question8:-The type of remote sensing in which the sensors depend on natural
source of light
ROZBBRD IR FNET MQon DOV Ddpees® ZAoN® B0

A:-Active Remote Sensing
ega‘ OS3s0083¢ ﬂ&}\,ons

B:-Passive Remote Sensing
DR DZeces® ZAON?

C:-RADAR
09308

D:-LIDAR
(IlerloM

Correct Answer:- Option-B

Question9:-The factors that determine the temperature of any region are
(i) the intensity and duration of insolation

(ii) the amount of water vapour in the air

(iii) the nature of land surface and altitude

(iv) the cloud cover

ebbprlalgrsiale: o mm«swgp QAP OS 903N

(i) ‘agbeicée)s 333 P =Y
i) MYodIN JeOR B0k B[00

(
(ifi) 230 Boeed, 8> 2IOB FSweE3



(iv) ReER 2L0F

A:-(i) and (ii)
(i) S0 (ii)

B:-(i) and (iii)
(i) 03> (iii)

b

C:-(ii), (iii) and (iv)
(i), (iii) S>> (iv)

D:-(i), (ii), (iii) and (iv)
(i), (ii), (iii) =03 (iv)

Correct Answer:- Option-D

Questionl0:-A peninsular river of India that drains into Bay of Bengal
WonMeERedn D030V T3 &0ddes 0dd &a@

A:-Brahmaputra
B33

B:-Sabarmati
VTS

C:-Godavari
RPCTISO

D:-Narmada
NI AD)

Correct Answer:- Option-C

Questionl1:-Which among the districts of Kerala has longest coast line?
3e0YE 03003 BYNYY 08 VW TOIRY 6cai’odo§o BRODT?

A:-Kollam
BPQO

B:-Ernakulam
NVIETIO0

C:-Thrissur
3850°

D:-Kannur
6989/306

Correct Answer:- Option-D

Questionl2:-The 2022 United Nations climate change conference (COP 27) was held
at
2022 agsogab BDBIOT WBUIIT BXLFS (COP 27) Q9§>o 2 BBRETD0B)



A:-Egypt
TRD°

ed

B:-Dubai
BO239035°

C:-Glasgow
MORSOC
3

D:-Japan
(~TRI

Correct Answer:- Option-A

Questionl13:-Seed-water-fertilizer policy popularly known as
ez Q- 11AYT Aed HOTD BRH03NT?

A:-Green Revolution
BACO F908

B:-Golden Revolution
AT FY03

C:-Operation Flood
BSIVeRD® P©

D:-Blue Revolution
Qed Fo3

Correct Answer:- Option-A

Questionl4:-India's first 5 year plan was based on
03B IBO 5 IRENS o&/aezsr\'iobﬁb 3330233

A:-Mahalanobis model
STV 0930

B:-Gadgil model
MeBE* I5ED

C:-Harrod-Domar model
a%dwecs‘ -BRTVTE SO

D:-Both (1) and (2)
(1) 209 (2)

Correct Answer:- Option-C

Questionl5:-Arrange the following according to their increasing order of liquidity.
1. Saving deposits with the banks

2. Currency and coins with the public

3. Demand deposits with the banks

4. Term deposits with the banks

o8 &fﬁai?g)mfﬁb OJNY ézgogdos 3 ?3 (e‘)gaes) @a‘bﬁ& 9RONOEIDIN 23RCTB

1. 23905° e (Sedsﬁmfﬁb VYROF)EO



2. IR BATROAN 66&’)\’ 203 msa?mi)
3. WPTONYY BeIedne wWeldd
4. PRERLE0NN TP Be3ed

A:-3-4-1-2

B:-2-3-4-1

C:-4-1-3-2

D:-1-2-3-4

Correct Answer:- Option-C
Questionl6:-Indian statistical institute was established by
03e0dd Sommmb Sogodogb m@&mddo

A:-Jawaharlal Nehru
BRBO L FBTO

B:-P.C. Mahalanobis
D.2. BOVRCITS

C:-Amartyasen
eadogi?ﬁm‘

D:-None of these
AR)NYY 03r0F)BR 9

Correct Answer:- Option-B
Questionl17:-Who is called "Father of GST" in India?
a03R 9 'GST 0d) HTR0D' DO odmdgo 6601»396?

A:-Mahatma Gandhi
mmg ArlelA)

B:-M.S. Swaminathan
0. DTE. maz)omz;ﬁa‘

C:-Atal Bihari Vajpayee
£9637° B0 [ITWLCOL

D:-None of the above
R0eDT 0d0oFBS 9L

Correct Answer:- Option-C

Question18:-First Vice Chairman of NITI Aayog
NITI esodeend Seme emm%sg

A:-Arvind Panagariya
(Detuleaiiforiatelossp)

B:-Dr. Rajiv Kumar
039, Ua23C® BORI0®

C:-Dr. K. Rajeswara Raho



@o. 3. oaz:?egd R VOIN

D:-Amitabh Kant
e9AVTL® Fo0SE

Correct Answer:- Option-A

Question19:-Find the most correct statements regarding 104th Constitutional
Amendment Act in India.
(i) Removed the idea of reservation of seats for the Anglo-Indian community in the
Lok Sabha

and State Legislatures.
(ii) Extended the deadline for the cessation of seats for SCs and STs in the Lok
Sabha and State

Legislatures from 70 to 80 years.
(iii) 10% Reservation for Economically Weaker Sections of citizens of classes other
than socially and educationally backward classes or the Scheduled Castes and the
Scheduled Tribes.

033 1048¢ T90IGNT SZOTHE Fo0WTN F02) 003 eagos 20030963 ée%mfﬁb BIBOG
(i) ©o5® 3 eoﬁm;—@oéaba‘ 5&/&)@30&)@ 230N AOCZSID303D Eeoga's’abgb 3rBOBTNT
(ii) 70 dow 80 IRENYI3NR 0% BoRTONNY 0B Bees 7J0dod Oz° 2 B0 HFF &3 YR
;’oeédm@a*go VDRI ﬁca’oﬁga DROIINT

(iii) FoRBrTN BB BTETTDN SOBIVE WIRTD WP aa@g 253D D 56@5}
30ﬁz§ﬁ@9’§a BRVODBY Y30 INENY PNOTC 3D TovoN BRIEO INENYN BeTwo 10 Qoczedd

A:-Only (i and ii)
(i S0 ii) Soeg

B:-Only (ii and iii)
(il S0 iii) Roeg

C:-Only (i and iii)
(i S iii) S098,

D:-All the above
S0edB HW

Correct Answer:- Option-A

Question20:-Among the following commissions for the protection and welfare of
designated communities/citizens, which one secured the latest status as a
constitutional body?

a2 IBAW ABVT0IONLD / ©NDTC T S0 6&)399&2@ 8 NS sadeennyd) o)y

F0DGVT F0Z033N YeeIT FoTVBNTVITo BBRIEL0RI?

A:-National Women's Commission
oag%cow S0&wo esodeen

B:-National Commission for Backward Classes
S0ROYE INFNY oaéjeodo esodeen



C:-National Commission for Scheduled Caste
38&5 2398MaN oagsaeob esodeen

D:-National Human Rights Commission
Tog £030 BBH $§omf esodeen

Correct Answer:- Option-B

Question21:-Who was the secretary of Constituent Assembly of India?
PI03T FODPIN 2303 Fo0EWBE 0359807

A:-Dr. Rajendra Prasad
B@a. Dozie0w, TRIW®

B:-Shri. H.V.R. lyenkar
Be. 2u3¢.. es0E. ©03>050°

C:-Dr. BR Ambedkar
@o. ).es0°. esozSczgo‘

D:-Shri. Sachchidananda Sinha
Be. 3UDIToE A,

Correct Answer:- Option-B

Question22:-Identify the correct statement regarding recent Citizenship
Amendment Act 2019.
(i) It provides India citizenship to the migrants who entered India on or before 31st
December
2014.
(ii) The Act was passed for migrants of six different religions such as Hindus, Sikhs,
Buddhists,
Jains, Parsis and Christians from Afghanistan, Bangladesh and Pakistan.
(iii) Parliament used its exclusive power to legislate with respect to citizenship
under the
Seventh Schedule of Indian Constitution.
(iv) The provisions on citizenship will not apply to the tribal areas of Assam,
Meghalaya,
Mizoram and Tripura that are included in the sixth schedule of the constitution.
230U3I @dg 3goBB 503 20193 wri 2003096 BeYF OCOS.

(i) w0 313¢ B3x0200° 201438030 9509 S/ zpadéﬁ&gdeéw =0210R s3e0dd
ﬁadgwgo WBNROZTS

(i)  IPTITIN®, LP0MATCB YD TIFTTINE  OBSNL, %g}do, u’agdo, a;z‘jaido, TIAE N B0
@é;dobgdo, SO0 €300 g)zi)g PR N I0ndmeN wo&ododogn 290N CTORIINTS

(iii) RoRZ> 27903030 FONFIRVE DYSe 5%3’@0‘ 9B0LY o\)—-’adg% R0 ORI 03 TIDVRRD [IE 0
SQ Q3R @@&ddﬁb WFDD

(iv) RoQpRE esose é‘cg’st 99 wIrtRoRCIS 9700, FeEFIO03), DTRCT0 SO §F)OT
WIBTED BTSNV 520D 30edT R OFILH TR

A:-Only
(i SOD i) Io9

-0

i and ii)

@lr/\

C



B:-Only (ii and iv)
(i 03 iv) S,

C:-Only (i, ii and iv)
(i, i @030 iv)3oeg

D:-All the above
RIS dQF

Correct Answer:- Option-D

Question23:-Protection of Wildlife and Environment is detailed in which part of the
Constitution of India?
dgﬁzﬁcx) W VRrlerveln) dgﬁodoﬁb 03 RODPINE 03093 LonB Q) H=S0xeaNT

A:-Fundamental Rights
SVDISTA Vo 6§me;b

B:-Directive Principles of States policy
oagrw’ Redod ABes 33 ngfo

C:-Fundamental duties
SRR s&gm

D:-Preamble
mgpa

Correct Answer:- Option-B

Question24:-Identify the wrong statement regarding the new amendment to the
Flag Code of India
(AD oFc Al cgzs F0&303) BRF SZOBBOI zori 3@ éce?ﬁodogo noCL3%

A:-The National Flag shall be made of hand-spun and hand-woven or machine-
made, cotton,
polyester, wool, silk khadi bunting
oa@tgaﬁib 3,00003 B3> 309008 e iz 03003R0E 303503, B3, mc‘)obgos, &VES

&
6&7‘%}&)@5 20830M° QOB RJABDINIR)B
B:-Permits the display of the national flag by members of the public, private

organisations, educational institutions, etc.
TODETWAT, WRN K0FTIRD, BTed FOZMO fzza%an«:?od oa@ cgm SBBE T, 0BO[0S ACBIZTI

C:-The new rules did not permit polyester flags, only hand-spun and hand-
woven flags were allowed
BRI A03OSONED me‘)ofbgo‘ cgzsmfgo BOBISFHDY, 00083 BRWZ F0Z> §odom deod

zgzsmfgb R308, RBOBISIUNT
D:-The new code lifts the restrictions on the import of machine-made flags

which was banned in 2019
BAR VOIONYD me‘)oﬁogo“ cgumfgp BIRISRIR) DY, 650&)063 VRIS &0 ﬁdo&)ow ﬁmgo

Cgmmfga B30, RBORVSZUNT

Correct Answer:- Option-C



Question25:-According to Administrative Reforms Commission, the institution of
Lokpal and Lokayukta should be characterised by which of the following features.
(i) Their appointment should as far as possible, be non-political
(ii) Their proceedings should be subjected to judicial interference
(iii) Their investigation and proceedings should be conducted in public and should
be formal in

character
(iv) They should not look forward to any benefit from executive

BSEY3 RGPV 303eNE FTO, SRCTD 208 SCT0300T 003 YOEB FYNT ados
3BRNP0B ACIQS |

(i) 930 VeSHTP30N —awmm\o dowﬁ 09253030030 5N3 23630

(ii) e9sSo oo%odorﬂ@e’ab ?m‘u&)ﬁmﬁ RScé’NzScﬁo S0 TZB Y BWI230TDNTLICTO

(iii) eoz33 383 dogo &goim@e’go FORE WATDN BBEREB BB HZBY BeBw0THNT LB
(iv) 9800 T03F QeF BTOOW 03IF)e & oifaczsﬁﬁgo NIV BRCBLIATT

A:-Only (i and ii)
(i S0 i) B8
B:-Only (i, iii and iv)
(i, iii S0 iv) S8

A

C:-Only (i and iv)

(i S0 iv)R5eg
D:-All of the above (i, ii, iii and iv)
0DV dQF (i, i, iii iv)

Correct Answer:- Option-C

Question26:-Who was the Chairman of 4th State finance Commission of Kerala
Fe0YE 43¢ oa%s DT s03eenE eacggdo 0305900

A:-Dr. B.A. Prakash
@o. 23.@@’/'@36

B:-Sri. KV Rabindran Nair
Be. 3.9. d&’)cogas 0030

C:-Sri. S.M. Vijayanand
Be. d=°. 0. Jwodsedon®

D:-Sri. Prof. M.A. Oommen
Be. dp. 0.0, Gu°

Correct Answer:- Option-D

Question27:-Which of the following are the means of judicial control over
administration

(i) Suits against government

(ii) Judicial review

(iii) Rule of law

(iv) Statutory appeal



8% FINSI)NYS 0300)BY BEFIE 3o magimoﬁ D0od00g £ FOBBHNG
(i) =vFOB é:)dozg AR a12%)
(ii) @%033?0{1 AIBETH
(iii) TIBPAT AOIORV
(iv) Doa® zog SO
A:-Only (i, ii and iii)
(i, ii R iii) B8,
B:-Only (i, iii and iv)
(i, iii o3> iv) S99,

D:-Only (i, ii and iv)
(i, i 030 iv) B8,
Correct Answer:- Option-D

Question28:-Which among the following is a pioneering e-governance project set up
by government of Kerala for computerisation of local self government institutions of
Kerala

30YE 3¥eadd gcﬁoo Rplate) 3o§mf ﬁw%eﬁdmﬁ%ﬂ FCOY ATIETR) DI 8% FINSI)NED
0d0eFBO BRIET B-LBYS 03 cB03oNTS?

A:-Information Kerala Mission
‘agdoeréa‘ FCOY DRD°

B:-Akshaya
O (o9

C:-Kerala State IT Mission
FcoY §eé36 IT DR

D:-Kerala State Wide Area Network
FCOY §eé.s€ ﬁdc«ss D000 Fe3® I

Correct Answer:- Option-A

Question29:-In which year the State planning Board was made a permanent major
Department of the government
033 SRFBQ Doz 03z BP0 FEETH Z933 SR YU2aI0ITIN [3ES00R0?

A:-1967
B:-1969
C:-1974
D:-1972
Correct Answer:- Option-C

Question30:-Which among the following statement is/are correct about State
Human Rights Commission



(i) The Chairperson should be retired Chief Justice or a Judge of a High Court
(ii) The Chairperson and members are removed by the Governor on the
recommendations of a committee consisting of the Chief Ministers as its head, the
speaker of the Legislative

Assembly.
(iii) The chairperson and members hold office for a term of three years or until they
attain the age of 70 years, whicher comes first
(iv) The salaries, allowances and other conditions of service of the chairperson or a
member

are determined by the parliament.
0% ISR agomf e303enE B0 B8 FPNT 0300x BEPINL I0030NT

(i) @qiﬁdo &)33 daoa.) mzpwmfaér Dlamp) %&MWF o mzpjnaeéoaﬂdzsea)

(ii) wwﬁdo S0 :dﬁdab oazgwod éwdm 031} APDILI Ncﬁoe g ANERIATDI

(iii) eacﬁﬁdo 302> m.\»d BSBRY3 9T 3 IRFNY 90 70 5050.@ BT 03RO SeeSee

0930

(iv) eacggd Dlamr) mgd Se33/ND, wézp@b B0 ¥3T X0 5d§3m”§o R033) AP DRI,
A:-Only (i, ii and iii)

(i, ii S0Joiii) B8,
B:-Only (i, ii and iv)

(i, ii S0 iv) 3508

C:-Only (ii and iv)
(i B iv)Seg

D:-Only (i and iii)
(i o iii) =093,
Correct Answer:- Option-D

Question31:-Who is the chief Executive officer of Kerala State Disaster Management
Authority?
30 Do I VBB RPFIOT 300 T2 AFEHT 0EFD ad5e0)?

A:-Chief Minister
B0DRIQY
S

B:-The Chief Secretary
dw%) F030FB B

C:-Revenue Minister
FOT03D 230D

D:-Additional Chief Secretary, Revenue and Disaster Management
32330 Sg 50dFBSF, Foweod B IFP BB

Correct Answer:- Option-B

Question32:-According to the Kerala Head Load workers Act, which one of the
following acts as appellate authorities

BeOY BB° SPer® IzeR'E 8T BTIO, T8 FYNTR)NYY a30J)wo d)eoai&) ROTT NN



FO0ROE VR GRIZT.

A:-The Regional Joint Labour Commissioners
R8T 23083 TIET L80300TTL

B:-Deputy Labour Commissioners
YUSD TOQVET €30300T00

C:-District Labour Officers
VO TINET OPTIONLD

D:-Labour Comissionerate
€3 0f TAORDTCE®

Correct Answer:- Option-A

Question33:-Which of the following is not a Ramsar Site in Kerala?
8% BYNTIHYNYY 0300)B0 FCOUE ToFT® §,63° 99

A:-Vembanad
ALl EM

B:-Ashtamudi
LIRRNOOEB
e3
C:-Sasthamkotta
TORRI® B3
@ e3
D:-Vellayani
Seodoed
Correct Answer:- Option-D
Question34:-Kerala State Disaster Management Authority is
30Y D% I VSE B0 Y50
A:-A Statutory body
JORM WG I0R
@ 5]
B:-A Non-Statutory body
TS WFSED F0Z

C:-An Autonomous body
20830 7903008 0

D:-A Statutory Non-Autonomous body
RNV AN maoi)gdggw 3o§

Correct Answer:- Option-D

Question35:-Who is the Chairman of Kerala Rural Employment and Welfare Society
(KREWS)?
$c0Y ST’ aommo&)é)és‘ e90%3° a"ezoec‘ ifaz"éwab (KREWS) ea?g’do 03590807

A:-Balamurali D IAS
23903000 Y B DdTE



B:-Adv. P Viswambarapanicker
eszg. 3. &gowdasﬁgos

C:-P.l. Sreevidya IAS
. 8. 803, 0dd%°

D:-Dr. Joy Elamon
339. 239030° DLION®

Correct Answer:- Option-B
Question36:-Who is the Chief Labour Commissioner (Central) of India?
W03 m%) FOETO 30300TC0 (6eog ) 0359807

A:-Shri Ajay Kumar Samantaray
Be. ©9%0d0° B0BI00¢ 59300300030

B:-Shri S C Joshi
Be. 2782, s

C:-Shri R G Meena
Be 80°.23. doewe

D:-Dr. S. Chithra
. dF°. W

Correct Answer:- Option-A
Question37:-Skin, eyes and heart are
UBROF, T P> HEOD

A:-Organs
e9onned

B:-Cells
BRC3NYD

C:-Tissues
£90M03NYD

D:-Systems
IR U)
5 @
Correct Answer:- Option-A

Question38:-Cells (in trillion) in human body
S0083 Bepr @ weSBeeaned (Do 3Y)

A:-10
B:-600
C:-37.2
D:-25
Correct Answer:- Option-C
Question39:-The most essential nutrient for a women during her initial stages of



pregnancy
N23e s E303) &80YT BOINFY) S0P @gos @ngm RfOCRTIOBIINTS

A:-Vit. A
Q3 A

B:-Thiamin
Bo300°

C:-Folic Acid
2T e337°

D:-None
eV op ) ANSRIS)

Correct Answer:- Option-C
Question40:-Protein deficiency disease is
R ceden® Sp0Z00 TooDS

A:-Hyperthyrodism
%ﬁc‘ z%oaoao@ﬁdf

B:-Meningitis
30002§e37°

C:-Kwashiorkor
a}séodﬁss'os

D:-Anaemia
Tgdbend

Correct Answer:- Option-C
Question41:-Disease transmitted by insect vector
3CE3 DIBTROW BOBEOS Been

A:-Cancer
ﬁagoc

B:-AIDS
PAley

~N

C:-Malaria
Soe3edodre

D:-None
Q30BN Q)
Correct Answer:- Option-C

Question42:-Sound harmful above
B R) BoATIO TN



A:-100 db
100 &2

B:-10 db
10 3

C:-40 db
40 &)

D:-80 db
80 8

Correct Answer:- Option-D

Question43:-The scientific name given, recently, to kaari fish (kadu)-(black stinging
cat fish) is
Q3ee37t FO DOERL (TRY) - (6@ BELBTOS z3§o D) 1 QeRE FL5AT B0

A:-Heteropneustes fossilis
£é§dfa:§fa§5"' $2I5°

B:-Heteropneustes fuscus

ai‘éé’dfa;’gaég":e A PV
3

C:-Heteropneuestes nani
AOBT B éﬁdfagmodogo“

D:-Heteropneustes singhi
£é3dfa;§p§3€ 20N

Correct Answer:- Option-B
Question44:-India declared Polio free in
a033) el Re FT DR FUCAD)

A:-1990

B:-1992

C:-2010

D:-2014

Correct Answer:- Option-D

Question45:-For which colour of light, the refractive index of a transparent medium
is minimum?
WSS 0dro3 WP, , FIVBBET mgm 53508 302308:3) BUZHNCIZE

A:-Red
B50R)

B:-Green
D0

C:-Violet
(oL



D:-Same for all colours
DY zosegrie?m 2,053

Correct Answer:- Option-A

Question46:-The force which opposes the relative motion between the different
layers of a liquid is
BIT G SBONY BBEOIW 705367 uodabgu Al VOINARVIVE L

A:-Buoyant force
300N WO

B:-Surface tension
doeeazw

C:-Centripetal force
FCOT PRV WO

D:-Viscous force
?:Qéodo A1)

Correct Answer:- Option-D

Question47:-A body of mass 'm' is sliding over a horizontal surface. If 'g' is the
acceleration due to gravity, then the force of gravity 'F' acting on the body and the
work '"W' done by the force of gravity are

'm' B ?oaéodo BeBR) 303 ﬁoee‘g’i R0ee3 2590033, mdoa%ﬁarﬁoaoomms SenIFeRso3 'g’

NG 3, deas Soed FTo0dF ABE&ROB NoszTRE 0D 'F! &P RudhzsRe 0l WO
20083 Fom 'W!

A-F=0,W=0

B:-F =mg, W =mg

C-F=mg, W=0

D:-F =0, W = mg

Correct Answer:- Option-C

Question48:-When a body is moved from the surface of earth to the top of a
mountain, its weight,
20830 ﬁcwwﬁb (ATRTASIeV V) ﬁoee%o&)od BIEIB 3001 3Y0303TN, WET 30T

A:-increases
BRI

B:-decreases
TRRO030NOZT

C:-remains the same
woTie esNSLZTI

D:-becomes infinity
980850NCOZT

Correct Answer:- Option-B



Question49:-The geometry of fullerene c« consist of
R)QOER® co VB Bearaneddsy) werleoBtLIZT

A:-12 pentagons only
12 Sotsrio® ned 3008,

B:-20 hexagons only
20 3o 358,

C:-20 hexagons and 12 pentagons
20 3P 33> 12 Hoksnie®

D:-12 hexagons and 20 pentagons
12 imﬁ)&:dogo 20 Joe3riw®
Correct Answer:- Option-C

Question50:-Which of the following statement is/are correct about main group
elements of the periodic table?

(i) Li shows diagonal relationship with Be

(ii) Po is a main group element

(iii) F is the most electronegative element

SR3ET %Jaegw m%) R0 eo3ne’ zorj\ B8 FYNT 03003 HCLFO300 03N

(i) Lidoodr sedesodd Sowocjdgp Bi 330003.
(ii) PO m%a R0V 903N,
(iii) F aej‘%&c zdomgﬁ £903259NT3.

A:-Only (i and ii)

B:-Only (i and iii)

C:-Only (ii and iii)

D:-All the above (i, ii and iii)

Correct Answer:- Option-C
Question51:-What is the pH of 1M NaOH solution at 25°C?
25°C 39 1M NaOH ge=es pH ®§O

A:-0

B:-1

C:-10

D:-14

Correct Answer:- Option-D
Question52:-""Vigyan Sarvatra Pujyate' of 2022 is associated with
2022 0 "o IBEE, ﬁﬁgée" YR TBRODT T30 0T

A:-National Science Day
Tog£030 Dg5ed B

B:-Indian Science Congress
03030 LT FOQTJ®



C:-National Technology Day
Oogy£0d> 303Z5eT DI

D:-National Education Day
Oog£0d> 8ge0 DI

Correct Answer:- Option-A

Question53:-Vasthuhara, a film directed by G. Aravindan is based on a short story
written by
PDORBIT, 2. TIOB® ATWer AT WOTVUZE WIB I 6(;3053§b 3530283

A:-M.T. Vasudevan Nair
0. 83. JoTeI™® PO

B:-S.K. Pottakkad
L. B @aésay%w‘

C:-0.V. Vijayam
2.9, AWOPE

D:-C.V. Sreeraman
2.. geoama‘

Correct Answer:- Option-D

Question54:-Which of the following is/are true about Kerala Kalamandalam?

(i) It is situated in Cheruthuruthy

(ii) Kerala Kalamandalam was established in 1930

(iii) Mankulam Mukundaraja was closely associated with the foundation of Kerala
Kalamandalam

3e0¥ 3UR00BO0 Wi 88 FYNTVI)NYY adoHmo 5%4

(i) 29@o 2580300030303

(ii) B0 sRRVOB®0 e9§b 1930 o® FIDRELD0Z)

(iii) Soorbeo FBI0BT03 V[T FOY FYIRIOBOT WFT0ITEA 0N ATES 3020 BRODETV

A:-Only (i) and (ii)
(i) 03> (ii) <08,

B:-Only (ii) and (iii)
(i) @3 (iii) I3

C:-Only (i) and (iii)
(i) S0 (iii) I3

D:-All the above
309 DY

Correct Answer:- Option-D

Question55:-Which of the following is not authored by Vallathol Narayana Menon?
8 BYNTINYY 0d00)B0 IYZRCY® ©oT030e0 FOTVD® 9:300E WT0ILYEIL



A:-Ente Gurunathan
Q0&3 RICLTIF®

B:-Kochu Seetha
m%dab 232

C:-Onappattukar
WRBDITO?

D:-Achanum Makalum
eszngwwf S0T©0

Correct Answer:- Option-C

Question56:-Which of the following film is not matched correctly?
8 FYNT 0003 WORLZR) KD0IIN Be0DF0ITNIF)DE?

A:-Madonna-Raphael
OB CT-ToH®

B:-Irises-Van Gogh
w@ﬁ:‘a'azp‘ non®

C:-Vitruvian Man-Da Vinci
&)écp&)oi)a‘ mym AQ
~N

D:-The return of the Prodigal Son-Michealangelo
Ot3n’s 9° B P BRs ﬁa“-dg}é%modd/a
Correct Answer:- Option-D

Question57:-Which of the following is matched correctly?
8% FINSI)NYY 030e3)E0 800N BPOBF0IINTS?

A:-Kaimudrakal-Sethu
%mgws - 2

B:-Nirtham-Rajalekshmi
QATIR5° - DB

C:-Delhi Gadhakal - V.K.N
Bo®) NETOE - D.3.d0°

D:-Kudiyozhikkal - Kovilan

a)aoifaezﬂfef - BRCAOV®

Correct Answer:- Option-A

Question58:-Which of the following is not true about 'Virgin Galactic'?
(i) It is world's first commercial space tourism company

(ii) Elon Musk is the founder of Virgin Galactic

(iii) It is an American spaceflight company founded in 2004

8 FYNIYNYY 0d00Im0 'Ie®° MIEs™ Wil AWIY?
(i) 2w é:)g Y0 ALI) meﬁzg mmfaé gmm«?:ssm B0 Q030N



(i) e3ed m,—; i~ T\%C)gﬁe 30@@35
(iii) *w> 200409 @g’oﬁod)acs 9:30COT™E mmpé 0359® FoBAOIINT.

A:-Only (i)
(i) Soeg

B:-Only (ii)
(ii) Soeg

C:-Only (iii)
(iii) Soog

D:-All the above
MSII] DY

Correct Answer:- Option-B

Question59:-Chrysilla volupe, a rare organism recently spotted in Puttenahalli
belongs to which category of species?
DedeRIBI00Q BIerdrt FoERI 0B WTTRDE 23eH03TE FHe Q" 033933 250318 $eDT?

A:-Frog

TR
@

B:-Dung Beetle
ANed L0007

C:-Spider
B8

D:-Turtle
€353

Correct Answer:- Option-C

Question60:- is an example for secondary storage device.
aaéecﬁo 3ead3me mc,dw%& VTIHO £50350NT

A:-Magnetic disk
mﬂrﬁw# R=E
=) 3

B:-RAM
RAM

C:-ROM
ROM

D:-Cache
Cache

Correct Answer:- Option-A

Question61:- is used for creating web pages.
520° Sewgd 3odoees® SrEen ONEALASEDeR

A:-SQL
SQL



B:-Paint
Paint

C:-HTML
HTML

D:-Adobe Reader
Adobe Reader

Correct Answer:- Option-C
Question62:-The application software that is used for processing data is
demsgb S300RRYZe0 WIS VTS mgw"ecf

A:-GIMP
GIMP

B:-MS Power Point
MS ZII0° Ta0d0E3®

C:-MS Word
MS I

D:-Spreadsheet
BT° eest
Correct Answer:- Option-D
Question63:-Information Technology Act was introduced in the year
[PB0ee RAR® 3502 37° 0350 IRFTE BOWOIFLIOR)
A:-1998
B:-2000
C:-2001
D:-2002
Correct Answer:- Option-B
Question64:-The device that is used to connect two different networks is called
OB é:)zf)Q Ve3¢ I rﬁejﬁb FOBFEZO WFOS mc;aidgo DR FB0ILUNRIITI
A:-LAN
LAN

B:-Gateway
rjees® Se

C:-Decoder
RENCBOS

D:-RJ45
RJ45
Correct Answer:- Option-B

Question65:-Right to Information Act, 2005 does not cover
R90%3 BT 0T, 2005 2100BCOFHAY



A:-Offices of Public Authorities established, owned or substantially financed by
the Central Government
$e0R, ATET DT m@&:geg me‘)esgw 9D NEINCOIDNIN BEITIRD WBNAT TORE LT

R TONY FL5eONLd

B:-Offices of Public Authorities established, owned the State Governments
ROSE VT FYHTIONY FeICONTPO FIARDNG, Tagg FToFTNY 2HEIVE Y

C:-Any body owned, Controlled or substantially financed by Central
Government
3eol ATEFTR0B wHEIIB, V03I T 1gadeaddzoN BeaToRd WENAE JFF Be3T K03

D:-A non Government Organisation not substantially financed directly or
indirectly by Central
Government
3007, 3FETVOT BTN 950 FTWeToN NEINC0ITIN BEITIRY WBNIB FToF B30 3o§

Correct Answer:- Option-D

Question66:-What is the maximum amount of penalty imposed under the Kerala
Right to Service Act 2012 on a designated officer failing to provide service without
reasonable and sufficient cause?

RBOOWRDIE B0 FIFHD TTLAYT Fe300F wBNREL DF00E RADBRIE ©Rgedb Hoed

FCOP €9 53’0 90T 2012 T 9B JPROND Oz F00ear3 B dT?
A:-10,000
B:-5,000
C:-1,00,000
D:-500
Correct Answer:- Option-B

Question67:-Which of the following statutes provide for constitution of Internal
Complaints Committee?
8 BYNT 03503 B 330ried 30303 BuetonY FD303D 30&@3&55@ WENROSES

A:-Right to Information Act, 2005
=903 &?J Fo008, 2005

B:-The Kerala Right to Service Act 2012
FCOY Ac50 5?) To0Ts, 2012

C:-The Sexual Harassment of Women at Workplace (Prevention, Prohibition and
Redressal) Act, 2013
SO gexsg 080300 ezoﬂﬁ 30OBY (Sdﬁ%b&)%, VR G 0B FOBO) Fo0T, 2013

D:-Juvenile Justice (Care and Protection of Children) Act, 2015
wﬁﬁde‘ WACRE (dogee’ e.-scgjﬁ S03> TZE) To0T, 2015

Correct Answer:- Option-C

Question68:-Mr. X gives false information to a magistrate that a police officer
illegally omits to do his work. The magistrate believing this, takes action upon the
police officer? What offence Mr. X has committed?



W) Fpedes’ whzd0dn SQ 6@55@ SRBOV TOTABOWETTIN DeWNBITIN 0B QFO® DT
mggew i 30—-;3 :méoéodogn BTN 'adgo 8023 Mﬁew, BPcACR® 9PTD0L Foees R
3iegO300? DUZ0° OFF 0d5E R0 SRS

A:-Providing false information to public servant under Section 182 of Indian

penal Code
a0 3e0d) BoR 20&H303 FF° 182 T 9B0IY o3¢ AT ZeITOM 3@ :m%oéodogo WG AROZHBO

B:-Fabricating false evidence under Sec 192 of the Indian penal Code
a03e0d BoR 308303 33™° 1928 @0 Y 3§ RT3 63??1@@3 VI E HRIRE) FOSE BT
3T0300I)B

C:-Obstructing Public servant in discharge of his official duties under Section
186 of The Indian Penal Code
a0 3e0d) BoB 70&303 AZP° 186 T 9B0LY 3§> Slala 53??#9353 VI BRIDY) IS BWAT

ﬁedﬁaigb 3B0O3VREY
D:-Threat of injury to Public servant under 189 of The Indian Penal Code

a0 8e03) OB 50303 189 9B Fo=E WAT AESTAN M0 B0

Correct Answer:- Option-A

Question69:-"Parent' under Maintenance and welfare of Parents and Senior Citizens
Act, 2007 include

(i) Biological parents below 60 years

(ii) Step mother

TOOTTV R0Z) HO0L PNDE0 Fo0oWW, 2007 T AIF BT [0 6%)389(3 9B0Y "FPCRTTY"

(i) 60 d‘-’m—‘%os FPNS a‘g‘,&)ﬁ éjaeo—-iaﬁy Ww¥RP0BCOZE
(i) =D© 0%

A:-Both (i) and (ii) are correct
(i) S0 (ii) SOBs 3DCITNT

B:-Both (i) and (ii) are incorrect
(i) S0 (ii) 0B 3@@?\&3’

C:-Only (i) is correct
(i) =098 xDOPNT

D:-Only (ii) is correct
(ii) Soeg 303N
Correct Answer:- Option-A

Question70:-Lokpal has jurisdiction over
SR CTHIC® RNTT meéodoga BROT.

A:-State Government to inquire into allegations of corruption against its public
functionaries
0% JTETR) Sg FIBEWAT T TIET HCIZH gmwmd E:Bd/a(’c:‘o’ﬁ%”gb QAT SIAE O

B:-Central Government to inquire into allegations of corruption against its
public functionnaries



30T, ATIFVR) 3§$ FIBE WAT T3 3DONY BT ga&_awzaadd Bdfaeﬁm”ﬁb QAT T30 BIAEO

C:-Central Government to inquire into allegations of sexual harassment
against its public functionaries
3C0R, FTFTR) 3§$ TORE LWAT ToOETIET z)dog ezoﬁﬁ 30X e;sd/a@m@o QUIV T DIAE D

D:-None of the above
IV E NS AVSR OS]

Correct Answer:- Option-B

Question71:-The least among the following is
8% FFNIJ)NED eagoé TR

A:-(0.059)

B:-0.1+0.08

C:i-(0.2?9)

D:-0.1

Correct Answer:- Option-C

Question72:-The number of terms of the sequence 76, 72, 68,.... that must be
added to get the sum zero is
BB Boa) BTN 76, 72, 68,.... mgwgp BBOR ZeDRCTIE 3003

A:-39

B:-43

C:-63

D:-65

Correct Answer:- Option-A
Question73:-The average of first 35 natural numbers is
B30 35 FaNET soaﬁgﬂ@’ X00x0

A:-17.5

B:-18

C:-630

D:-1225

Correct Answer:- Option-B
Question74:-A did } of a work, B did ¢ of it and C did the rest of it. They gained Rs.
3300 for the total work, Then C's wages is
A 6e>3w§b§ =00B, B ? @d@o R50RT R0 C 90 euv zparing SI0RT, S0 M3V 68)35&
3300 3e3® IBE0Y, B030 C H3e33 N3

A:-Rs. 330
Ow. 330

B:-Rs. 880
Ow. 880



C:-Rs. 1100
Sw. 1100

D:-Rs. 1320
Ow. 1320

Correct Answer:- Option-B
Question75:-The perimeter (in cm) of a semicircle of radius 91 cm is
91 ﬂo.me.gzgﬁ Zr3 36 FOY (F0.7Y)

A:-286

B:-377

C:-468

D:-572

Correct Answer:- Option-C

Question76:-The next term in the series 11, 18, 73,... is
11, 18, 73 3383030 00T 93

A:-99

B:-108

C:-517

D:-634

Correct Answer:- Option-D

Question77:-If KDKO stands for GAIN, then stands for LOSS.
KDKO 2033 GAIN 00w 3, esn LOSS §J Mz%mgd

A:-PRUT
B:-PRTT
C:-FUTR
D:-QSTT
Correct Answer:- Option-A

Question78:-A man said to a woman, "the only son of your brother is the brother of
my wife". How is that woman related to the wife of that man?
W) BYDORTO W) S0HT, "&)5@9 ABRTO Be o7 (“\5§) BOB30) FIBRCTT" Q0B BT,

&3 B0&Y FVORD BoBSN er} 302 0PATY

A:-Sister
ABRCTO

B:-Mother
300

C:-Aunt
(KIS
4 &

D:-Grandmother



Correct Answer:- Option-C
Question79:-If N denotes '+' Q denotes '-, M denotes 'x' and P denotes '+', then
1000P5N5Q80M2P2M4 is
N '+' 308283, Q '-' §J ARWABT3, M ' X! @M%&?ﬁd P+ Qg ARWATT,
1000P5N5Q80M2P2M4

A:-80

B:--115

C:-185

D:--220

Correct Answer:- Option-B

Question80:-What is the angle between the minute hand and the hour hand of a
clock when the time is 3.107?
2003 3.10 esNBoIen NEB0300T ARE ;&»3() S0 roedady :mgbmf VBT FRCS

0300)BO?

A:-15¢

B:-25¢

C:-35¢

D:-45¢

Correct Answer:- Option-C
Question81:-Which one is correct?

A:-Dani requested to not go there

B:-Dani requested not to went there

C:-Dani requested them not going there

D:-Dani requested them not to go there

Correct Answer:- Option-D
Question82:-He is going to the programme

A:-Call off

B:-Call up

C:-Call on

D:-Call upon

Correct Answer:- Option-A

Question83:-One of us brought an application

A:-have
B:-has
C:-are



D:-all of these
Correct Answer:- Option-B
Question84:-Which of the following is correctly spelt?
A:-diprivation
B:-deprivetion
C:-deprivation
D:-diprevation
Correct Answer:- Option-C

Question85:-Select the most appropriate meaning of the given idiom
"Fair and square"

A:-honestly

B:-nasty

C:-cunning

D:-culpable

Correct Answer:- Option-A

Question86:-Choose the best substitute from the given options
An isolated shelter for infected patients

A:-leitmotif

B:-lazaretto

C:-laundry

D:-lance

Correct Answer:- Option-B

Question87:-Complete the sentence
If I had got the first prize,

A:-l would be happy

B:-1 will be happy

C:-1 would have been happy
D:-I would happy

Correct Answer:- Option-C

Question88:-Which of the following options are most similar in meaning to the word,
creased

(i) crumpled

(ii) wrinkled

(iii) crinkled

(iv) folded

A:-(i) and (iv)
B:-(i), (ii), (iii)
C:-(iv)



D:-all of these
Correct Answer:- Option-D
Question89:-she is my

A:-Collegue

B:-Colleague

C:-Collegu

D:-Collage

Correct Answer:- Option-B

Question90:-Select the correct question tag
They need some money, ?

A:-need they?

B:-don't they?

C:-needn't they?

D:-didn't they?

Correct Answer:- Option-B
Question91:-8eQwer - WO 03reT To3DaR?

A:-ZO 0BT TR

B:-28.97°. 830033

C:-3592 Sosedes esogoonao‘
D:-©o0%¢3

Correct Answer:- Option-C
Question92:-'£driraaéz3¢c§o' - B8 BoBNEE D)

A:-ﬁdﬁﬁb DB WeROF)B0
B:-331 z@@aoﬁo WCBORRO
c:-qjgaow WeBOZBO
D:-ﬂdﬁﬁb e WCBOIZBO

Correct Answer:- Option-C
Question93:-e9§$ gde8eodd 5ww§a nOCL820.

A:-503
B:-Ssectdemd
C:-5 3630

D:-sonw



Correct Answer:- Option-B
Question94:-euxT0 IJBBION _g:iigéodoﬁb 3RCTUCR.
09BR3 9B IBT é:)cbaccpac;ﬁrﬁsz ARUWOS aaa@o noCL820

A:-no03
B:-&esd
C:-ﬁdéﬁ’é
&
D:-%ncxs

Correct Answer:- Option-C

Question95:-'z3003eeeE0dd 230849 er0d BeSt Bl Torsec D02 FIVEG BNT K96 BEE
w¥E0dna 5oRodF> 392D

A:-e353¢3 30
B:-nogzod
C:-3I0€ DCER0H
D:-3® 0B

Correct Answer:- Option-B
Question96:-'e3593' QoW IRW VFE QBT I

A:-g23
B:-8¢3
C:-esnx
D:-nns

Correct Answer:- Option-A
Question97:-'d/az§dﬁzi’gom' INYo7A) édaiib QonBAwaN,

A:-BRWD+ D

tA ) [A)
B:-BR8ni+ 20

P [A)
C:-BRW+ 1A

23 [A)
D:-BRon0+ a0

23 fA)

Correct Answer:- Option-B
Question98:-est3 2300€} 2,63 VOOV, ............ mcSodogb R TIRYD.

A:-e35300€3 FoDD
B:- 000 &S30203500003)



C:-%bg Soee’ zooaozooso
D:-en0dr0 230530 BRC0ID

Correct Answer:- Option-C
Question99:-e980 3203 ST 108

Correct Answer:- Option-B
Question100:-'Where there is a will, there is a way' - 20302 FFEFQ WT0D.

A:-ROBZ D Srte T

B:-o@ Somiriodnc ©¢) [SonedY
C:-2¢ S dusodee vdodoe ZoTATS
D:-Svente e So87d

Correct Answer:- Option-A



